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WORKSHEET

Logarithms review

1 Evaluate each expression.

a log 1000

e log{lj
6

2 Write each equation in logarithmic form.

a4 =64

b log 256

b 5 =25
3 Write each equation in index form.

a log 100 = 2 b log8 =3
4 Simplify and evaluate each expression.

a log.3’

c log, 900 — log 9

e log.15 + log.2 — log.6
g log,12 — 2log 2

5 Simplify each expression.
a log,5 + log,6
c log,6 + log,8 — log,4
e log,20 — (log,5 + log,4)

1
g —log,16a
> 8

6 Expand each expression.

a log,(xy)

d loga(4sz)

f log, 1
64

b log,(x")

e log, \/E

c log125 d log 49

g log,3 h log,1

c2' =32 d =z

c logb=7 d log,16 =2
b log,32 + log,2

o

3log 2 + log 27
3log,,5 — log, 2 + log, 16

-h

=2

1
2log 4 + log 20 — Elog225

b log,25 — log,5
d log,4a’
f log,6a’ — log,2a’

=

1
log,3¢c + glogad — 2log,e

c log, (ﬂ]
r
c
f loga (?)

7 Iflog 4 = x,log 6 = yand log 10 = z, express each of the following in terms of x, y and z.

a log 40 b log 2
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c log 160 d log 15
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8 Iflog 6 = 0.7782, find the value of each expression.

a log 36 b logw% c log, 60

d log 0.6 e log, 360 f logwm
9 Solve each equation, correct to two decimal places where necessary.

a 4'= 4096 b 6'=1679616 c 5 =120

d 2"+ 2 = 3264 e 4 —3=1984 f 37 =300
10 Solve each equation.

a log.x =4 b log.x =5 ¢ log,x = %

d log.36 =2 e logx% =-1 f log,64 =3
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Answers
1a3

e —1

2 a log,64=3
a 10> =100
4 a5

()

el

5 a log 30

e 0

6 a log x +log y
d log 4 + 2log 5

7 ax+tz

1.5564
—0.2218
x =

x = 9.67
x =81
x =

10

o 0 o0 %5 QO

3of3

b 8 c
f —2 g
b log 25 =2 c
b2°=38 c
b3 c
f3 g
b log 5 c
f log 3 —2 g
b nlog x c

! | + ! 1
e —log x+ —lo

2 ga 2 gay
b lx c

2
b —0.7782 c
e 2.5564 f
b x= c
e x~8.48 f
b x = 3125 c
e x=10 f
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log 12

| 4+1
(0] -
84 2

d?2
h 0

dlogz=6
y

d a>=16

d3

h 6

d log 4 +2

3
h loga(k\z/g ]
e

1ogap + logaq — logar

2x + z
1.7782
1.8891

x =297
x= —1.19
x=2

x = 4"
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f log c — 2log d

dy+z—x
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